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LA (%) = (P‘_Pz)xmo = (1 _cos 9‘) X100

P1 Cos 02
P1 WEADOEWRRE (DELHEKFERE) (KVA)
P2 WERODEFNRTE (LELXHEE) (kVA)
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WERIDHE WEEDHE (cosb?)
(cosB1) 0.8 0.85 0.9 0.95 1.0
0.5 375 41 44 47 50
0.6 25 29 33 37 40
0.7 12.5 18 22 26 30
0.8 6 11 16 20
0.9 5 10
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(cosB1) 1.0 | 0.95 | 0.90 | 0.85 | 0.80 | 0.75 | 0.70 | 0.65
0.60 1.7781.670|1.542[1.394|1.215|1.000(0.737 | 0.411
0.65 1.366 | 1.258 | 1.132]0.982|0.804 | 0.589 | 0.325
0.70 1.0410.933/0.806|0.657 | 0.479 | 0.263
0.75 0.778]0.670|0.545|0.394 | 0.215
0.80 0.563]0.454]0.328|0.178
0.85 0.384]0.276 | 0.150
0.90 0.235/0.126
0.95 0.108
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AE=I(Rcos 0 + X sin 0)
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